ВЫБРАТЬ РАЗРЕШЕННЫЕ
	Продажи.Номенклатура КАК Номенклатура,
	СУММА(Продажи.СтоимостьОборот) КАК СуммаВыручки,
	СУММА(Продажи.СтоимостьОборот - Продажи.НДСОборот) КАК СуммаВыручкиБезНДС,
	СУММА(ВЫБОР
			КОГДА ПродажиСебестоимость.СтоимостьОборот ЕСТЬ NULL
					ИЛИ ПродажиСебестоимость.КоличествоОборот ЕСТЬ NULL
					ИЛИ ПродажиСебестоимость.КоличествоОборот = 0
				ТОГДА Продажи.СтоимостьОборот
			ИНАЧЕ Продажи.СтоимостьОборот - ПродажиСебестоимость.СтоимостьОборот / ПродажиСебестоимость.КоличествоОборот * Продажи.КоличествоОборот
		КОНЕЦ) КАК СуммаВаловойПрибыли,
	СУММА(Продажи.КоличествоОборот) КАК КоличествоПроданныхТоваров,
	СУММА(Остатки.КоличествоНачальныйОстаток) КАК КоличествоНачальныйОстаток,
	СУММА(Остатки.КоличествоПриход) КАК КоличествоПриход,
	СУММА(Остатки.КоличествоРасход) КАК КоличествоРасход,
	СУММА(Остатки.КоличествоКонечныйОстаток) КАК КоличествоКонечныйОстаток,
	СРЕДНЕЕ(ВЫБОР
			КОГДА Остатки.КоличествоНачальныйОстаток - Остатки.КоличествоКонечныйОстаток = 0
				ТОГДА 0
			ИНАЧЕ Продажи.КоличествоОборот / (Остатки.КоличествоНачальныйОстаток - Остатки.КоличествоКонечныйОстаток) / 2
		КОНЕЦ) КАК ОборачиваемостьТоваров
{ВЫБРАТЬ
	Продажи.Номенклатура.*}
ИЗ
	(ВЫБРАТЬ
		Продажи.Номенклатура КАК Номенклатура,
		Продажи.ХарактеристикаНоменклатуры КАК ХарактеристикаНоменклатуры,
		Продажи.СтоимостьОборот КАК СтоимостьОборот,
		Продажи.НДСОборот КАК НДСОборот,
		Продажи.КоличествоОборот КАК КоличествоОборот,
		Продажи.Регистратор КАК Регистратор
	ИЗ
		РегистрНакопления.Продажи.Обороты(&ДатаНачала, &ДатаОкончания, Регистратор, Номенклатура <> &ПустаяНоменклатура) КАК Продажи) КАК Продажи
		ЛЕВОЕ СОЕДИНЕНИЕ (ВЫБРАТЬ
			ПродажиСебестоимость.Номенклатура КАК Номенклатура,
			ПродажиСебестоимость.ХарактеристикаНоменклатуры КАК ХарактеристикаНоменклатуры,
			СУММА(ПродажиСебестоимость.СтоимостьОборот) КАК СтоимостьОборот,
			СУММА(ПродажиСебестоимость.КоличествоОборот) КАК КоличествоОборот,
			ПродажиСебестоимость.Регистратор КАК Регистратор
		ИЗ
			РегистрНакопления.ПродажиСебестоимость.Обороты(&ДатаНачала, &ДатаОкончания, Регистратор, Номенклатура <> &ПустаяНоменклатура) КАК ПродажиСебестоимость
		
		СГРУППИРОВАТЬ ПО
			ПродажиСебестоимость.Номенклатура,
			ПродажиСебестоимость.ХарактеристикаНоменклатуры,
			ПродажиСебестоимость.Регистратор) КАК ПродажиСебестоимость
		ПО (ПродажиСебестоимость.Номенклатура = Продажи.Номенклатура)
			И (ПродажиСебестоимость.ХарактеристикаНоменклатуры = Продажи.ХарактеристикаНоменклатуры)
			И (ВЫБОР
				КОГДА ПродажиСебестоимость.Регистратор ССЫЛКА Документ.РасходныйОрдерНаТовары
					ТОГДА ПродажиСебестоимость.Регистратор.ДокументПередачи = Продажи.Регистратор
				ИНАЧЕ ПродажиСебестоимость.Регистратор = Продажи.Регистратор
			КОНЕЦ)
		ЛЕВОЕ СОЕДИНЕНИЕ (ВЫБРАТЬ
			ТоварыНаСкладахОстаткиИОбороты.Номенклатура КАК Номенклатура,
			СУММА(ТоварыНаСкладахОстаткиИОбороты.КоличествоНачальныйОстаток) КАК КоличествоНачальныйОстаток,
			СУММА(ТоварыНаСкладахОстаткиИОбороты.КоличествоПриход) КАК КоличествоПриход,
			СУММА(ТоварыНаСкладахОстаткиИОбороты.КоличествоРасход) КАК КоличествоРасход,
			СУММА(ТоварыНаСкладахОстаткиИОбороты.КоличествоКонечныйОстаток) КАК КоличествоКонечныйОстаток,
			ТоварыНаСкладахОстаткиИОбороты.ХарактеристикаНоменклатуры КАК ХарактеристикаНоменклатуры
		ИЗ
			РегистрНакопления.ТоварыНаСкладах.ОстаткиИОбороты(&ДатаНачала, &ДатаОкончания, , , ) КАК ТоварыНаСкладахОстаткиИОбороты
		
		СГРУППИРОВАТЬ ПО
			ТоварыНаСкладахОстаткиИОбороты.Номенклатура,
			ТоварыНаСкладахОстаткиИОбороты.ХарактеристикаНоменклатуры) КАК Остатки
		ПО Продажи.Номенклатура = Остатки.Номенклатура
			И Продажи.ХарактеристикаНоменклатуры = Остатки.ХарактеристикаНоменклатуры
{ГДЕ
	Продажи.Номенклатура.* КАК Номенклатура}

СГРУППИРОВАТЬ ПО
	Продажи.Номенклатура
{УПОРЯДОЧИТЬ ПО
	Продажи.Номенклатура.* КАК Номенклатура}
{ИТОГИ ПО
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